Advance/l=;
"=

Auto Parts

Store Identifier: #4435

245 Arlington Street
Acton, MA

February 27, 2015 - Variance Presentation

ses)
Ph:1.888.660.1298

Fax: 1.574.237.6166
www.siteenhancementservices.com



Advance Auto Parts/-- Aerial _

o = 18" White Channel Letterset
o = 37" x 48" Face Replacement

-
P

\Tables TolTeapot

SEy Ph' 1.888.660. 1298 Fax: 1.574 2376166 www.siteenhancemen!services.com Page 2 of 10




Advance Auto Parts/-- 18" White Channel Letterset
3 SF

Code Allowed Signage: 24" Channel Letterset; 3

SEy Ph: 1.888. 560 1298 Fax: 1. 574237 .6166 www.sileenhancementservices corm Page 30f 10



Advance Auto Parts/-- 18" White Channel Letterset

18" Channel Letterset (32 SF) Extra Measurements

Auto Parts}:

IIININE 2y

eas ents
A=9-1 B =2.2" C =32 D1 = 32" D2 = 205" E=16"

SEy Ph 1.888 660 1298 Fax: 1. 574 237. 6166 www.siteenhancementservices.com Page 4 of 10



Advance Auto Parts/-- Panel Reface

Existing Pylon Proposed Reface

Existing cabinet square footage: 12.3 Proposed square footage: 12.3
Existing sign height: 3-1* OAH Proposed sign height: 3-1" OAH

sc:y Ph 1,888 660.1298 Fax: 1 574 237 6165 www. sileenhancementservices.com Page & of 10



Advance Auto Parts/-- Existing vs Proposed

SE:S} Ph: 1,888 85C. 1298 Fex: 1. 574 . 237 . 6165 www.siteenhancementservices.com Page 6 of 10



-~

Advance Auto Parts/-: Proposed Signs - Other Angles

I_n_h_lé TosTeapots @)

www:sileenhancementservices.com Page 7 of 10




Advance Auto Parts/:= Proposed Signs - Other Angles

-

o B
_In_bl?z’s; Topleapois @
P -V y

SE’S) Ph 1.888 660.1298 Fax: 1. 574 237 . 6166 www.siteenhancementservices.com Page 8 of 10




Advance Auto Parts/-=

18" White Channel Letterset Spec Page

o 18" White Channel Letterset
Sign to be halo-lit and pin mounted.

POWER SUPPLY: Gelcore model GECLPS3 or GECLPS4 (UL classified)
LED UNIT: Gelcore (5 per ft.)

DISCONNECT SWITCH: 20 amp toggle safety switch, single pole

with rubber boot (UL approved)

3.5".050 aluminum
letter return

1 | 1% trim cap

+«—— 3/16" letter tace

3/8" threaded rod —-'1, m B
or 3/8" lag bolt Mt 1

[——— LED unit

I

|

|

| |
RS n%—- 7/8" plastic bushing

I

|

|—— Translucent Backing

Primary electrical —» (i
source

Mounting plate

—— Weep hole cover

[‘ Weep hole
' |(min. 2 per letter)

SE’_S) Ph 1t 888 560 1298 Fax: 1 574 237 . 6165 www.sileenhancementservices.com

Whip located behind "u"
2141 %

Xy \ 74"
dyanc-’ /TG P72 B «— Disconnect switch

Raceway is split behind the "A" 32 5q.ft.

Scale: 1/8"=1'-0"

3/16" Acrylite ——— ————— 3/16" Acrylite
white face white face

1" black Jewelite ———
trim cap _"“

Arlon series #22 Black

vinyl overlay segment

3 1/2" pre-finished —

black return

Gelcore LED module

_/

Pre-painted reflective white
aluminum back

Sign components to be in strict compliance with ali UL standards, @

Page 9 of 10



Advance Auto Parts/-- Panel Reface Spec Page

] Universal Detail a1 e #8x 1" TEK screw
Formed aluminum access cover —————— - as " e 1_qn 1
fastened with #6 TEK screws / 3-1"x 4-0 Panel
1.9° Vi Jclip Reface
£ 3 at ==
4" aluminum retainer
1/4" tension bolt Sign components to be in strict compliance
063 aluminum cladding — Hook clip with all UL standards.
finished gloss black v @
(riveted to frame) Wireway cover . 3M wedge clamp
Spring-loaded | Holding bar
1 1/2° x 4" extruded socket :
aluminum raceway |
L l ) Flex face
d J-clip aluminum
1" x 1* steel tube extrusion Match Plate Connection Detall
support welded to
2" x 2" x .063 (14 GA) | frame at cross i 3/4°x 3 1/2° ASTM
steel tube frame | members (4 req.) Electrical Data I A325 bolt {4 req.)

welded at all joints
1/4" fillet weld

6.625" x .280 steel Volts: 120
' support pipe Total Amps: 8 3/16" fillet weld
Circuits: 1

Visible Disconnects: 1

Ballasts: 4 !

3/16" steel gusset

Aluminum cladding

17" x 17" x .758"
1/2" diameter steel welded to pipe steel base plate
sag rod welded 1. All framing to be 2" x 2* x .063" 14 gauge steel tube. and base plate
to top steel support 2. All horizontal and vertical members to be fully welded . .
o bottomn oo atall contact points with 3/16° min. fillet weld. Setagmater 174" Met weld
members 3. Frame to be primed with Akzo Nobel White Enamel
Primer to prevent galvanic corrosion between steel
frame and aluminum cladding. 12" x 500 ASTM —— )
Westrim toggle switch AS3-S/B support pipe
38057 finished to welded to plate
match (UL approved)
1/2" Greenfield —— E.P;:?o';%g?
conduit
(2 per side) Proper sign foundation to be determined by certified
I engineer. Pylon to be direct set into concrete pad and
ib( . KULKA 582B rubber foundation below grade. Sign must be installed in
UL junction box o fluorescent lamp boot accordance with requirements of article 600 of National
mounted to pipe L g ﬁ.:\ 2 Electrical code and/or applicable local codes.
)
\ l‘;'—_-j Steel bottom match Windload requirement: 80 MPH
” i plate welded to frame
U and support pipe
R WL I a
Aluminum bracket ——— }'
welded to cladding

and bottom of raceway Priinary slectrical

(runs through pipe)
SEy Fh 1.888 660, 1298 Fax. 1.574 . 237 . 6166 www.siteenhancementservices.com Page 10 of 10

~



